

UNICITY THEOREMS FOR MEROMORPHIC FUNCTIONS[†]

DEGUI YANG^{*} AND MINGLIANG FANG^{**}

^{*} College of Sciences, South China Agricultural University, Guangzhou 510642,
People's Republic of China

^{**} Department of Mathematics, Nanjing Normal University, Nanjing 210097,
People's Republic of China

(Received 1 July 2003; accepted 19 April 2004)

Let f be a non-constant meromorphic function. If, $ff' \neq 0$, f and f' have the same fixed-points, then $f \equiv f'$.

Key Words: Meromorphic Function; Entire Function; Uniqueness

1. INTRODUCTION

Let f be a non-constant meromorphic function in the whole complex plane. We use the following standard notation of value distribution theory,

$$T(r, f), m(r, f), N(r, f), \bar{N}(r, f), \dots$$

(see Hayman², Laine⁴, Yang⁶). We denote by $S(r, f)$ any function satisfying

$$S(r, f) = o\{T(r, f)\},$$

as $r \rightarrow +\infty$, possibly outside of a set with finite measure.

Let g be a meromorphic function and let a be a complex number. $f(z) = a$ if and only if $g(z) = a$, we say that f and g share the value a IM. If $f(z) - a$ and $g(z) - a$ assume the same zeros with the same multiplicities, we say that f and g share the value a CM.

Rubel and Yang⁵ proved.

Theorem A — Let a, b be two distinct finite numbers and let f be a non-constant entire function. If f and f' share a, b CM, then $f \equiv f'$.

Gundersen¹ proved.

Theorem B — Let a be a non-zero finite number, and let f be a non-constant meromorphic function. If f and f' share $0, a$ CM, then $f \equiv f'$.

In¹, Gundersen gave an example to show that Theorem B is not valid if f and f' share a IM.

Recently, Zhang⁷ proved

[†]Supported by the NNSF on China (Grant No. 10071038) and "Qinglan Project" of the Educational Department of Jiangsu Province, by the Fred and Barbara Kort Sino-Israel Post Doctoral Fellowship Program at Bar-Ilan University and by the German-Israeli Foundation for Scientific Research and Development, G.I.F. Grant No. G-643-117.6/1999.

Theorem C — Let f be a non-constant meromorphic function and let a be a non-zero constant. If f and f' share 0, a CM, f and f' share a IM, then one of the following cases must occur:

$$(1) f \equiv f';$$

$$(2) f(z) = \frac{2a}{1 - ce^{-2z}}$$

where c is a non-zero constant.

In this paper, we prove

Theorem 1 — Let f be a non-constant meromorphic function, and let $a(z)$ be a non-constant polynomial. If f and f' share 0 CM, $f(z) - a(z) = 0$ whenever $f'(z) - a(z) = 0$, then $f \equiv f'$.

Corollary 1 — Let f be a non-constant meromorphic function. If, $ff' \neq 0$, f and f' have the same fixed-points, then $f \equiv f'$.

Theorem 2 — Let f be a non-constant meromorphic function and let a be a non-zero constant. If f and f' share 0 CM, $f(z) = a$ whenever $f'(z) = a$, then one of the following cases must occur:

$$(1) f \equiv f';$$

$$(2) f(z) = \frac{2a}{1 - ce^{-2z}}$$

where c is a non-zero constant.

From Theorem 2 we obtain Theorems B-C. It does not seem that Theorem 2 can be proved using method of⁷.

2. SOME LEMMAS

In order to prove our results, we need the following lemmas.

Lemma 1 — (see³, Lemma 4). Let f be a transcendental meromorphic function. Then

$$N\left(r, \frac{1}{f'}\right) \leq N\left(r, \frac{1}{f}\right) + \bar{N}(r, f) + S(r, f).$$

Lemma 2. — Let f be a transcendental meromorphic function, $a(z) (\neq 0)$ a polynomial and let $h(z) = f'(z)/a(z)$, $h'(z) \neq 0$. Then

$$(1) T(r, f) \leq \bar{N}(r, f) + N\left(r, \frac{1}{f}\right) + \bar{N}\left(r, \frac{1}{h-1}\right) - N_0\left(r, \frac{1}{h'}\right) + S(r, f); \quad \dots (2.1)$$

$$(2) N_{1)}(r, f) \leq \bar{N}_{(2)}(r, f) + \bar{N}\left(r, \frac{1}{h-1}\right) + N_0\left(r, \frac{1}{h'}\right) + S(r, f); \quad \dots (2.2)$$

where $N_{1)}(r, f)$ is the reduced counting function of the simple poles of f ; $\bar{N}_{(2)}(r, f)$ is the reduced counting function of the multiple poles of f ; and $N_0(r, 1/h')$ denotes the counting function for those

zero points of h' which are not zero points of $h(z) - 1$, and $\bar{N}_0(r, 1/h')$ denotes the corresponding reduced counting function.

PROOF : We first prove (2.1). Obviously,

$$\begin{aligned} m\left(r, \frac{1}{f}\right) + m\left(r, \frac{1}{h-1}\right) &\leq m\left(r, \frac{1}{h}\right) + m\left(r, \frac{1}{h-1}\right) + S(r, f) \\ &\leq m\left(r, \frac{1}{h} + \frac{1}{h-1}\right) + S(r, f) \leq m\left(r, \frac{1}{h'}\right) + S(r, f) \\ &= T(r, h') - N\left(r, \frac{1}{h'}\right) + S(r, f). \end{aligned}$$

Thus by Nevanlinna's first fundamental theorem, we have

$$\begin{aligned} T(r, f) &\leq \bar{N}(r, f) + N\left(r, \frac{1}{f}\right) + N\left(r, \frac{1}{h-1}\right) - N\left(r, \frac{1}{h'}\right) + S(r, f) \\ &\leq \bar{N}(r, f) + N\left(r, \frac{1}{f}\right) + \bar{N}\left(r, \frac{1}{h-1}\right) - N_0\left(r, \frac{1}{h'}\right) + S(r, f). \end{aligned}$$

(2.1) is proved.

Next we prove (2.2). Set

$$g(z) = \frac{a^2(z) [h(z) - 1]^3}{[h'(z)]^2}. \tag{2.3}$$

We claim that $g(z) \not\equiv c$, where c is a constant.

Suppose that $g(z) \equiv c$, then c is a non-zero constant. Otherwise, $h(z) \equiv 1$, that is $f'(z) \equiv a(z)$, which contradicts that f is a transcendental function.

Let $z_0 \in \mathbb{C}$, such that $h(z_0) \neq 1$, $a(z_0) \neq 0$. Then there exists $\delta > 0$ such that in $D_\delta = \{z : |z - z_0| < \delta\}$,

$$\frac{h'}{(h-1)^{\frac{3}{2}}} = \frac{a}{\sqrt{c}}.$$

Thus

$$\frac{1}{\sqrt{h-1}} = b(z),$$

where $b(z)$ is a polynomial satisfying $b'(z) = a(z)/\sqrt{c}$.

Hence we get

$$f'(z) = \frac{a(z)}{b^2(z)} + a(z), \quad z \in D \delta.$$

Thus

$$f'(z) = \frac{a(z)}{b^2(z)} + a(z), \quad z \in D \mathbb{C},$$

which contradicts that f is a transcendental function.

Let z_0 be a simple pole of f and $a(z_0) \neq 0$. We claim that

$$g(z_0) \neq 0, \infty, \quad g'(z_0) = 0. \quad \dots (2.4)$$

In fact, if z_0 is a simple pole of f , then in the neighbourhood of z_0 ,

$$f(z) = \frac{c}{z - z_0} + O(1), \quad (c \neq 0). \quad \dots (2.5)$$

Let $a(z) = b_1 + b_2(z - z_0) + \dots$, ($b_1 \neq 0$). Then we have

$$\frac{1}{a(z)} = \frac{1}{b_1} - \frac{b_2}{b_1^2}(z - z_0) + O((z - z_0)^2),$$

$$f'(z) = -\frac{c}{(z - z_0)^2} + O(1),$$

$$h(z) = -\frac{c}{b_1(z - z_0)^2} + \frac{cb_2}{b_1^2(z - z_0)} + O(1),$$

$$h'(z) = -\frac{2c}{b_1(z - z_0)^3} + \frac{cb_2}{b_1^2(z - z_0)^2} + O(1).$$

Thus

$$\begin{aligned} g(z) &= -\frac{b_1 c}{4} \frac{\left\{ 1 - 3 \frac{b_2}{b_1}(z - c_0) + O((z - z_0)^2) \right\} \left\{ 1 + 2 \frac{b_2}{b_1}(z - c_0) + O((z - z_0)^2) \right\}}{\left\{ 1 - \frac{b_2}{b_1}(z - c_0) + O((z - z_0)^2) \right\}} \\ &= -\frac{b_1 c}{4} + O((z - z_0)^2). \end{aligned}$$

(2.4) is proved. By (2.4) and Lemma 1, we have

$$N_{(1)}(r, f) \leq N\left(r, \frac{1}{g'}\right) - \left[N\left(r, \frac{1}{g}\right) - \bar{N}\left(r, \frac{1}{g}\right) \right] + S(r, f)$$

$$\begin{aligned} &\leq N\left(r, \frac{1}{g}\right) - \bar{N}(r, g) - N\left(r, \frac{1}{g}\right) + \bar{N}\left(r, \frac{1}{g}\right) + S(r, f) \\ &\leq \bar{N}\left(r, \frac{1}{g}\right) + \bar{N}(r, g) + S(r, f) \\ &\leq \bar{N}_{(2)}(r, f) + \bar{N}\left(r, \frac{1}{h-1}\right) + \bar{N}_0\left(r, \frac{1}{h'}\right) + S(r, f). \end{aligned}$$

Thus we get (2.2). The proof of the lemma is complete.

Lemma 3 — (see², Theorem 2.5). Let f be a transcendental meromorphic function and let a, b be two distinct polynomials. Then

$$T(r, f) \leq \bar{N}(r, f) + N\left(r, \frac{1}{f-a}\right) + N\left(r, \frac{1}{f-b}\right) + S(r, f).$$

3. PROOF OF THEOREM 1

We first consider the case that f is a transcendental meromorphic function. Suppose that $f \not\equiv f'$. Since f and f' share 0 CM, by Lemma 2 we have

$$\begin{aligned} T(r, f) &\leq \bar{N}(r, f) + N\left(r, \frac{1}{f}\right) + N\left(r, \frac{1}{\frac{f'}{a}-1}\right) + S(r, f) \\ &\leq \frac{3}{2} T(r, f') + S(r, f). \end{aligned}$$

Obviously,

$$S(r, f) = S(r, f'). \tag{3.1}$$

Since f and f' share 0 CM and $f(z) - a(z) = 0$ whenever $f'(z) - a(z) = 0$, we get Lemma 3 that

$$\begin{aligned} T(r, f') &\leq \bar{N}(r, f') + \bar{N}\left(r, \frac{1}{f'}\right) + \bar{N}\left(r, \frac{1}{f'-a}\right) + S(r, f') \\ &\leq \bar{N}(r, f) + N\left(r, \frac{1}{\frac{f'}{f}-1}\right) + S(r, f') \\ &\leq \bar{N}(r, f) + T\left(r, \frac{f'}{f} - 1\right) + S(r, f') \\ &\leq 2\bar{N}(r, f) + S(r, f') \\ &\leq T(r, f') + S(r, f'). \end{aligned}$$

Hence

$$T(r, f') = 2\bar{N}(r, f) + s(r, f'), \tag{3.2}$$

$$T(r, f') = 2\bar{N}\left(r, \frac{1}{f'-a}\right) + S(r, f'). \tag{3.3}$$

By (3.2), we get

$$N(r, f) + \bar{N}(r, f) = N(r, f') \leq T(r, f') = 2\bar{N}(r, f) + S(r, f).$$

Thus

$$N(r, f) = \bar{N}(r, f) + S(r, f), \quad \dots (3.4)$$

$$N_{(2)}(r, f) = S(r, f). \quad \dots (3.5)$$

Set

$$\phi(z) = 2 \frac{f'(z)}{f(z)} - \frac{f''(z)}{f'(z)}. \quad \dots (3.6)$$

Since f and f' share 0 CM, by (3.5)-(3.6), we have

$$N(r, \phi) = S(r, f).$$

Obviously,

$$m(r, \phi) = S(r, f).$$

Thus

$$T(r, \phi) = S(r, f). \quad \dots (3.7)$$

Let z_0 be a multiple zero point of $f'(z) - a(z)$ and $a(z_0) \neq 0$. Then by (3.6),

$$\phi(z_0) = 2 - \frac{a'(z_0)}{a(z_0)}. \quad \dots (3.8)$$

Next, we consider two cases:

Case 1 : $\phi(z) + a'(z)/a(z) \not\equiv 2$. Then

$$\bar{N}_{(2)}\left(r, \frac{1}{f' - a}\right) \leq N\left(r, \frac{1}{\phi + a'/a - 2}\right) \leq T\left(r, \phi + \frac{a'}{a}\right) + O(1) = S(r, f). \quad \dots (3.9)$$

Thus by Nevanlinna's second fundamental theorem, (3.2), (3.3) and (3.9), we get

$$\begin{aligned} T(r, f') &\leq \bar{N}(r, f') + \bar{N}\left(r, \frac{1}{f'}\right) + \bar{N}\left(r, \frac{1}{\frac{f'}{a} - 1}\right) - N_0\left(r, \frac{1}{\left(\frac{f'}{a}\right)'}\right) + S(r, f') \\ &\leq \bar{N}(r, f') + \bar{N}\left(r, \frac{1}{\frac{f'}{a} - 1}\right) - N_0\left(r, \frac{1}{\left(\frac{f'}{a}\right)'}\right) + S(r, f') \\ &\leq \bar{N}(r, f') + -N_0\left(r, \frac{1}{\left(\frac{f'}{a}\right)'}\right) + S(r, f'). \end{aligned}$$

Hence

$$N_0 \left(r, \frac{1}{\left(\frac{f'}{a}\right)'} \right) + S(r, f'). \tag{3.10}$$

Thus by (3.9)-(3.10),

$$N \left(r, \frac{1}{\left(\frac{f'}{a}\right)'} \right) + S(r, f'). \tag{3.11}$$

Let $b'(z) = a(z)$. Then by Lemma 2 and (3.11), we have

$$\begin{aligned} \bar{N}_1(r, f) &= \bar{N}_1(r, f + b) \\ &\leq \bar{N}_2(r, f + b) + \bar{N} \left(r, \frac{1}{f'} \right) - \bar{N} \left(r, \frac{1}{\left(\frac{f'}{a}\right)'} \right) + S(r, f + b) \\ &\leq N_2(r, f) + S(r, f). \end{aligned} \tag{3.12}$$

Thus by (3.2), (3.5) and (3.12), $T(r, f') = 2\bar{N}(r, f) + S(r, f) = S(r, f)$, a contradiction. Hence $f \equiv f'$.

Case 2 : $\phi(z) + a'(z)/a(z) \equiv 2$, that is

$$2 \frac{f'(z)}{f(z)} - \frac{f''(z)}{f'(z)} + \frac{a'(z)}{a(z)} \equiv 2. \tag{3.13}$$

Solving (3.13),

$$\frac{f'(z)}{f^2(z)} = c_1 a(z) e^{-2z},$$

where c_1 is a non-zero constant

Thus

$$f(z) = \frac{1}{A_1 + c \int_0^z a(z) e^{-2z} dz}, \tag{3.14}$$

where A_1 and $c (\neq 0)$ are two constants.

Hence

$$f(z) = \frac{1}{A + cp(z) e^{-2z}}, \tag{3.15}$$

where p is a polynomial of $\deg p = \deg a$, and $[p(z) e^{-2z}]' = a(z) e^{-2z}$. Thus,

$$f'(z) = -\frac{ca(z)e^{-2z}}{(A + cp(z)e^{-2z})^2} \quad \dots (3.16)$$

By (3.3), $f'(z) - a(z) = 0$ has infinitely many solutions. Let z_0 satisfy $f'(z_0) - a(z_0) = 0$. Then by (3.15)-(3.16) and $f(z) - a(z) = 0$ whenever $f'(z) - a(z) = 0$ we get

$$\frac{1}{p(z_0)} \left(\frac{1}{a(z_0)} - A \right) = -\frac{1}{a^2(z_0)} \quad \dots (3.17)$$

We claim that

$$\frac{1}{p(z)} \left(\frac{1}{a(z)} - A \right) = -\frac{1}{a^2(z)} \not\equiv 0. \quad \dots (3.18)$$

Indeed, suppose that

$$\frac{1}{p(z)} \left(\frac{1}{a(z)} - A \right) = -\frac{1}{a^2(z)} \equiv 0. \quad \dots (3.19)$$

Then

$$a(z) - Aa^2(z) + p(z) \equiv 0. \quad \dots (3.20)$$

If $A \neq 0$, then by (3.20) and $\deg p = \deg a$, $a(z)$ is a constant, a contradiction; if $A = 0$, then by (3.20),

$$a(z) + p(z) \equiv 0. \quad \dots (3.21)$$

On the other hand, we get from $[p(z)e^{-2z}]' = a(z)e^{-2z}$ that

$$p'(z) - 2p(z) \equiv a(z). \quad \dots (3.22)$$

Thus, (3.21) and (3.22) implies $a'(z) - a(z) \equiv 0$. Since $a(z)$ is a polynomial, we obtain a contradiction: $a \equiv 0$.

Hence by (3.17), we have

$$\bar{N} \left(r, \frac{1}{f' - a} \right) \leq N \left(r, \frac{1}{\frac{1}{p} \left(\frac{1}{a} - A \right) + \frac{1}{a^2}} \right) = O(\log r) = S(r, f),$$

which contradicts (3.3). Hence $f \equiv f'$.

Next we assume that f is a rational function. By $f(z)f'(z) \neq 0$, we have

$$f(z) = \frac{1}{(az + b)^n}, \quad \dots (3.23)$$

where n is a positive integer.

Then by $f(z) - a(z) = 0$ whenever $f'(z) - a(z) = 0$ we can deduce that $f \equiv f'$. We omit the details here. The proof of Theorem 1 is complete.

4. PROOF OF THEOREM 2

By Theorem 1, we obtain that either $f \equiv f'$, or

$$f(z) = \frac{1}{A_1 + ca \int_0^z e^{-2z} dz} \quad \dots (4.1)$$

If $f \not\equiv f'$, then by (3.3), $f'(z) - a = 0$ has infinitely many solutions. Thus by (4.1) and $f(z) = a$ whenever $f'(z) = a$, we get

$$f(z) = \frac{2a}{1 - ce^{-2z}},$$

where c is non-zero constant. The proof of Theorem 2 is complete.

REFERENCES

1. G. G. Gundersen, *J. Math. Anal. & Appl.*, **75** (1980), 441-46.
2. W. K. Hayman, *Meromorphic Functions*, Clarendon Press, Oxford, 1964.
3. X. H. Hua and C. T. Chuang, *Acta. Math. Sinica*, New Series, **7** (1991), 119-26.
4. I. Laine, *Nevanlinna Theory and Complex Differential Equations*, Walter de Gruyter, Berlin, 1993.
5. L. Rubel and C. C. Yang, *Values shared by an entire function and its derivative*, Lecture Notes in Math., **599** Springer, 1977.
6. L. Yang, *Value Distribution Theory*, Springer-Verlag, Berlin, 1993.
7. Q. C. Zhang, *Acta Math. Sinica.*, **45**(3) (2002), 871-76. (in Chinese).